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We will discuss recent progress on 
the black hole information problem



Outline

• Black hole entropy = area of horizon
• The fine grained gravitational entropy 

formula. Entropy = Minimal area
• Compute the entropy of radiation coming out 

of black holes. 
• Get a result consistent with information 

conservation  (as opposed to information 
loss). 

This will not be historical, will hopefully be pedagogical… 



We will mainly talk about Quantum aspects of black holes

Black holes have been in the news



Black hole

Time component of the metric goes to zero at some radius = 
Schwarzschild  radius.  (rs sets the ``size’’ of the black hole). 
An observer at constant r, feels an infinite gravitational force! 

In other coordinates:   (expanding around the Schwarzschild radius)

ds2 = d⇢2 � ⇢2d⌧2
<latexit sha1_base64="LPYuacKSqZnLsZY/MFo5/QhGXAk=">AAACCnicbZBNS8MwGMfT+TbrW9Wjl+AQvDjaKehFGHrxOMG9wFpHmqZbWJqUJBVG2dWTH8WToCBe/Qae/DZmWw+6+UDIj///eUief5gyqrTrflulpeWV1bXyur2xubW94+zutZTIJCZNLJiQnRApwignTU01I51UEpSEjLTD4fXEbz8Qqajgd3qUkiBBfU5jipE2Us+BkbqvwUsY+XIgDJ3AAiJfo8zcPafiVt1pwUXwCqiAoho958uPBM4SwjVmSKmu56Y6yJHUFDMytv1MkRThIeqTrkGOEqKCfLrJGB4ZJYKxkOZwDafq74kcJUqNktB0JkgP1Lw3Ef/zupmOL4Kc8jTThOPZQ3HGoBZwEguMqCRYs5EBhCU1f4V4gCTC2oRn2yYFb37nRWjVqt5ptXZ7VqlfFXmUwQE4BMfAA+egDm5AAzQBBo/gGbyCN+vJerHerY9Za8kqZvbBn7I+fwBsH5f4</latexit>

ds2 = �(1� rs
r
)dt2 +

dr2

(1� rs
r )

+ r2d⌦2
2

<latexit sha1_base64="cjtc9vGAHIt0TXVqzc0ewwvxXLE="></latexit>

Einstein: ``this does not make any physical sense”

Schwarzschild 1917

rs = 2GNM/c2
<latexit sha1_base64="AKaL37UuWFbM2sA9f9Nd/JB3rSo=">AAAB/XicbVDLSsNAFJ34rPEV7dLNYBFc1SQKuhGKLnSjVLAPaGOYTCft0MkkzEyEEoqf4kpQELd+iCv/xkmbhbYeuHA4517uvSdIGJXKtr+NhcWl5ZXV0pq5vrG5tW3t7DZlnApMGjhmsWgHSBJGOWkoqhhpJ4KgKGCkFQwvc7/1SISkMb9Xo4R4EepzGlKMlJZ8qwyFL+E5dOGVfwtvjvCDa/pWxa7aE8B54hSkAgrUfeur24txGhGuMENSdhw7UV6GhKKYkbHZTSVJEB6iPuloylFEpJdNjh/DA630YBgLXVzBifp7IkORlKMo0J0RUgM56+Xif14nVeGZl1GepIpwPF0UpgyqGOZJwB4VBCs20gRhQfWtEA+QQFjpvMw8BWf253nSdKvOcdW9O6nULoo8SmAP7IND4IBTUAPXoA4aAIMReAav4M14Ml6Md+Nj2rpgFDNl8AfG5w8q/ZI9</latexit>

metric near  r = rs in the t and r directions  



Constant r trajectory à accelerated observer

Looks locally like flat space 
Observer at constant radial position near ρ =0  à very large acceleration.
If she does not accelerate à no force!.   Just a coordinate singularity! 

ds2 = d⇢2 � ⇢2d⌧2 = �(dx0)2 + (dx1)2 , x0 = ⇢ sinh ⌧ , x1 = ⇢ cosh ⌧
<latexit sha1_base64="olc8CwjxY7Ecd02Dsmb6WYFFmz8="></latexit>

Time translation à acts like a boost at the horizon.

The metric near r=rs is flat



Euclidean analogy

Accelerated observer, at constant ρ. 

Circle at constant ρ. 

ds2 = d⇢2 � ⇢2d⌧2 = �(dx0)2 + (dx1)2 , x0 = ⇢ sinh ⌧ , x1 = ⇢ cosh ⌧
<latexit sha1_base64="olc8CwjxY7Ecd02Dsmb6WYFFmz8="></latexit>

ds2 = d⇢2 + ⇢2d✓2 = (dx0
E)

2 + (dx1)2 , x0
E = ⇢ sin ✓ , x1 = ⇢ cos ✓

<latexit sha1_base64="TLyqOKXEOa7UetuoQbCfav/sSt0="></latexit>



Finite temperature and circles in 
Euclidean time

Z = Tr[e��H ]
<latexit sha1_base64="YxVvpzXHJ7VxUWtmSdc6HM7XmOc=">AAACBHicbVDJSgNBEO2JW4xb1JteCoPgxTATBb0IQS85RsiGyRh6OpWkSc9Cd48QhoAnP8WToCBe/QlP/o2d5aCJDwoe71VRVc+LBFfatr+t1NLyyupaej2zsbm1vZPd3aupMJYMqywUoWx4VKHgAVY11wIbkUTqewLr3uBm7NcfUCoeBhU9jND1aS/gXc6oNlI7e3AHV1CRTcD7BE6h5aGmUIIRuNDO5uy8PQEsEmdGcmSGcjv71eqELPYx0ExQpZqOHWk3oVJzJnCUacUKI8oGtIdNQwPqo3KTyQ8jODZKB7qhNBVomKi/JxLqKzX0PdPpU91X895Y/M9rxrp76SY8iGKNAZsu6sYCdAjjQKDDJTIthoZQJrm5FVifSsq0iS2TMSk48z8vkloh75zlC7fnueL1LI80OSRH5IQ45IIUSYmUSZUw8kieySt5s56sF+vd+pi2pqzZzD75A+vzB1etlSA=</latexit>

=  evolution in Euclidean time on a circle of length β

Thermal partition function:

A theory on a Euclidean circle is related to a system is thermal equilibrium. 

T = 1
� = 1

Length of Euclidean circle
<latexit sha1_base64="mHDLGPo3FH+I4APeXc+8Dll38jo="></latexit>



Circle in Euclidean time à finite temperature

Accelerated observer measures a temperature!

T =
1

�
=

1

2⇡r
<latexit sha1_base64="jsRdpDE2rXI1YocxCSQewy+l1YY=">AAACFnicbVBNS8NAFNzUrxq/oh69LBbBg5SkCnoRil48VmhroQlls922SzebsPsilNA/4cmf4klQEK+CJ/+N2zYH2zqwMMzM4+2bMBFcg+v+WIWV1bX1jeKmvbW9s7vn7B80dZwqyho0FrFqhUQzwSVrAAfBWoliJAoFewiHtxP/4ZEpzWNZh1HCgoj0Je9xSsBIHeesjq9xhj3sxyaG/ZABweM5rYL9hGNl1I5TcsvuFHiZeDkpoRy1jvPtd2OaRkwCFUTrtucmEGREAaeCjW0/1SwhdEj6rG2oJBHTQTa9aoxPjNLFvViZJwFP1b8TGYm0HkWhSUYEBnrRm4j/ee0UeldBxmWSApN0tqiXCgwxnlSEu1wxCmJkCKGKm79iOiCKUDBF2rZpwVu8eZk0K2XvvFy5vyhVb/I+iugIHaNT5KFLVEV3qIYaiKIn9ILe0Lv1bL1aH9bnLFqw8plDNAfr6xdCBZt4</latexit>

Unruh 
Bisognano Wichmann
Hartle Hawking

x0
E

<latexit sha1_base64="k1m4mlGHw/34vNCAv/Tyu7vk1Cg=">AAAB7XicbVBNSwMxEJ2tX3X9qnr0EiyCp7JbBT0WRfBYwW0L7VqyadqGZpMlyYpl6W/wJCiIV3+QJ/+NabsHbX0w8Hhvhpl5UcKZNp737RRWVtfWN4qb7tb2zu5eaf+goWWqCA2I5FK1IqwpZ4IGhhlOW4miOI44bUaj66nffKRKMynuzTihYYwHgvUZwcZKwdOD173plspexZsBLRM/J2XIUe+Wvjo9SdKYCkM41rrte4kJM6wMI5xO3E6qaYLJCA9o21KBY6rDbHbsBJ1YpYf6UtkSBs3U3xMZjrUex5HtjLEZ6kVvKv7ntVPTvwwzJpLUUEHmi/opR0ai6eeoxxQlho8twUQxeysiQ6wwMTYf17Up+Is/L5NGteKfVap35+XaVZ5HEY7gGE7BhwuowS3UIQACDJ7hFd4c6bw4787HvLXg5DOH8AfO5w/S6Y5q</latexit>

x0
<latexit sha1_base64="brcMt7APiHoPznbd7oR4UfmVG0E=">AAAB63icbVBNSwMxEJ2tX3X9qnr0EiyCp7JbBT0WvXisaD+gXUs2zbahSXZJsmJZ+hM8CQri1V/kyX9j2u5BWx8MPN6bYWZemHCmjed9O4WV1bX1jeKmu7W9s7tX2j9o6jhVhDZIzGPVDrGmnEnaMMxw2k4UxSLktBWOrqd+65EqzWJ5b8YJDQQeSBYxgo2V7p4evF6p7FW8GdAy8XNShhz1Xumr249JKqg0hGOtO76XmCDDyjDC6cTtppommIzwgHYslVhQHWSzUyfoxCp9FMXKljRopv6eyLDQeixC2ymwGepFbyr+53VSE10GGZNJaqgk80VRypGJ0fRv1GeKEsPHlmCimL0VkSFWmBibjuvaFPzFn5dJs1rxzyrV2/Ny7SrPowhHcAyn4MMF1OAG6tAAAgN4hld4c4Tz4rw7H/PWgpPPHMIfOJ8/jWeNsg==</latexit>

Euclidean

Lorentzian

Observer who only has access to the right wedge à sees a mixed state, due to 
entanglement in the vacuum.



So far we discussed the near horizon 
geometry. 

Now let’s go back to the full black hole 
geometry



Euclidean black hole

tE = tE + � , � = 4⇡rs,
<latexit sha1_base64="VUSdMOeo+bIg7AyOE0Z1z1AJ3Mo=">AAACG3icbVDLSgNBEJyN7/ha9eilMQiCIezGgF6EoAgeFcwDkrDMTibJkNkHM71CCOY3PPkpngQF8SYe/BsnyR40saCboqqbmS4/lkKj43xbmYXFpeWV1bXs+sbm1ra9s1vVUaIYr7BIRqruU82lCHkFBUpejxWngS95ze9fjv3aPVdaROEdDmLeCmg3FB3BKBrJs130ruAcxv0Ymj5HCqP8aApIhXMoQTMWoDwNefDsnFNwJoB54qYkR1LcePZnsx2xJOAhMkm1brhOjK0hVSiY5A/ZZqJ5TFmfdnnD0JAGXLeGk9Me4NAobehEylSIMFF/bwxpoPUg8M1kQLGnZ72x+J/XSLBz1hqKME6Qh2z6UCeRgBGMc4K2UJyhHBhCmRLmr8B6VFGGJs1s1qTgzt48T6rFgntSKN6WcuWLNI9Vsk8OyBFxySkpk2tyQyqEkUfyTF7Jm/VkvVjv1sd0NGOlO3vkD6yvH/AengM=</latexit>

r
tE

<latexit sha1_base64="aQzdabfMJnp8zoZJJuTmfatTg5c=">AAAB7HicbVBNS8NAEJ3Urxq/qh69LBbBU0mqoMeiCB4r2A9oQ9lsN+3SzSbsToRS+hc8CQri1T/kyX9jkuagrQ8GHu/NMDPPj6Uw6DjfVmltfWNzq7xt7+zu7R9UDo/aJko04y0WyUh3fWq4FIq3UKDk3VhzGvqSd/zJbeZ3nrg2IlKPOI25F9KREoFgFHNpcGcPKlWn5uQgq8QtSBUKNAeVr/4wYknIFTJJjem5TozejGoUTPK53U8Mjymb0BHvpVTRkBtvlt86J2epMiRBpNNSSHL198SMhsZMQz/tDCmOzbKXif95vQSDa28mVJwgV2yxKEgkwYhkj5Oh0JyhnKaEMi3SWwkbU00ZpvHYWQru8s+rpF2vuRe1+sNltXFT5FGGEziFc3DhChpwD01oAYMxPMMrvFnKerHerY9Fa8kqZo7hD6zPH93tjdg=</latexit>

Gibbons
Hawking

ds2 = �(1� rs
r
)dt2 +

dr2

(1� rs
r )

+ r2d⌦2
2

<latexit sha1_base64="jlpy3Q/Zj9DA99Lbt34ewl7OGfM="></latexit>

ds2 = (1� rs
r
)dtE

2 +
dr2

(1� rs
r )

+ r2d⌦2
2

<latexit sha1_base64="w5JEsdMt3DhCZxmBfS4aPfCwE90="></latexit>

``cigar’’

r =rs

=   inverse temperature far away

Hawking



Quiz

• How big is a ``white” black hole?

T =
1

4⇡rs
<latexit sha1_base64="U/3aeCWykvpKIlWv+CYhyXPx9Ag=">AAACBHicbVDLSgMxFM34rONr1J1ugkVwVWZqQTdC0Y3LCn1BZxgyadqGZpIhyQhlKLjyU1wJCuLWn3Dl35hpZ6GtBwKHc87l5p4oYVRp1/22VlbX1jc2S1v29s7u3r5zcNhWIpWYtLBgQnYjpAijnLQ01Yx0E0lQHDHSica3ud95IFJRwZt6kpAgRkNOBxQjbaTQOW7Ca5hBD/rCxGAN+gmFMlRwaodO2a24M8Bl4hWkDAo0QufL7wucxoRrzJBSPc9NdJAhqSlmZGr7qSIJwmM0JD1DOYqJCrLZDVN4ZpQ+HAhpHtdwpv6eyFCs1CSOTDJGeqQWvVz8z+ulenAVZJQnqSYczxcNUga1gHkhsE8lwZpNDEFYUvNXiEdIIqxNbXbegrd48zJpVyveRaV6XyvXb4o+SuAEnIJz4IFLUAd3oAFaAINH8AxewZv1ZL1Y79bHPLpiFTNH4A+szx+YXpVM</latexit>

kT =
~c

4⇡rs
<latexit sha1_base64="6LaS8QNWMRMRIt+bIp4wO/zhkTk=">AAACDXicbVDLSsNAFJ3UV42vqks3F4vgqiS1oBuh6MZlhb6gCWUynbZDJ5MwMxFK6Ae48lNcCQri1g9w5d84abPQ1gMDh3PO5c49QcyZ0o7zbRXW1jc2t4rb9s7u3v5B6fCoraJEEtoiEY9kN8CKciZoSzPNaTeWFIcBp51gcpv5nQcqFYtEU09j6od4JNiQEayN1C+VJ9CEa0jBGwdYAgHwIpOHGngxA9lXMLNNyqk4c8AqcXNSRjka/dKXN4hIElKhCcdK9Vwn1n6KpWaE05ntJYrGmEzwiPYMFTikyk/nx8zgzCgDGEbSPKFhrv6eSHGo1DQMTDLEeqyWvUz8z+slenjlp0zEiaaCLBYNEw46gqwZGDBJieZTQzCRzPwVyBhLTLTpz85acJdvXiXtasW9qFTva+X6Td5HEZ2gU3SOXHSJ6ugONVALEfSIntErerOerBfr3fpYRAtWPnOM/sD6/AG8Spic</latexit>



Entropy

• Use first law: 

dS =
dE

T
=

dM

T
, rs = GNM/c2

<latexit sha1_base64="FhVBmH7FbhbhS1fNFErLO5xDQXE=">AAACK3icbVDLSgMxFM34dnxVXbq5WAQXUmeqoBvBB6KbSkWrQluHTCZtQzMPkoxQhvZ3XPkprgqK4tb/MNPOoloPBA7nnMvNPW7EmVSW9WFMTE5Nz8zOzZsLi0vLK7nVtTsZxoLQCgl5KB5cLClnAa0opjh9iATFvsvpvds+S/37JyokC4Nb1Ylo3cfNgDUYwUpLTu7Eu4EjSMCDc6iFOgm30M2U0ojS2+kNAcKR2r9wrqC0Sx6LppPLWwVrABgndkbyKEPZyfVrXkhinwaKcCxl1bYiVU+wUIxw2jVrsaQRJm3cpFVNA+xTWU8Gp3ZhSyseNEKhX6BgoI5OJNiXsuO7Oulj1ZJ/vVT8z6vGqnFYT1gQxYoGZLioEXNQIaS9gccEJYp3NMFEMP1XIC0sMFG6XTNtwf578zi5KxbsvULxej9/fJr1MYc20CbaRjY6QMfoEpVRBRH0jF7RG3o3Xoy+8Wl8DaMTRjazjn7B+P4B65yjBg==</latexit>

S =
Area

4GN
=

Area

4l2p
=

4⇡r2s
4l2p

<latexit sha1_base64="oVfuVFQSc54gstYrAXSLXufQvyI="></latexit>



A black hole is a thermodynamic 
object!



Let us discuss in more detail the 
geometry of a black hole



Geometry of a Black Hole made from 
collapse

interior

star

Singularity
Oppenheimer Snyder 1939

horizon

Portion of the Schwarzschild geometry

r = 0
<latexit sha1_base64="4eoCkQkPJzxWLjYmQSUfTVYYsNg=">AAAB63icbVBNSwMxEJ2tX3X9qnr0EiyCp7JbC3oRil48VrQf0C4lm2bb0CS7JFmhLP0JngQF8eov8uS/MW33oK0PBh7vzTAzL0w408bzvp3C2vrG5lZx293Z3ds/KB0etXScKkKbJOax6oRYU84kbRpmOO0kimIRctoOx7czv/1ElWaxfDSThAYCDyWLGMHGSg/q2uuXyl7FmwOtEj8nZcjR6Je+eoOYpIJKQzjWuut7iQkyrAwjnE7dXqppgskYD2nXUokF1UE2P3WKzqwyQFGsbEmD5urviQwLrScitJ0Cm5Fe9mbif143NdFVkDGZpIZKslgUpRyZGM3+RgOmKDF8YgkmitlbERlhhYmx6biuTcFf/nmVtKoV/6JSva+V6zd5HkU4gVM4Bx8uoQ530IAmEBjCM7zCmyOcF+fd+Vi0Fpx85hj+wPn8AVH3jYs=</latexit>



Horizon Area law

Area law:   The area of a black hole horizon always increases. Hawking

interior

star

Singularity

horizon

Starts with small area and it grows to larger area



The area law puts an upper bound on the energy that can be emitted in gravitational waves
when two black holes collide

S =
AreaH
4GN<latexit sha1_base64="1PjeRKZjFSSZ8++NnwNtw0wEMiI=">AAACC3icbVDLSgMxFM34rPVVdenmahFclZla0I1QdWFXUtE+oB2GTJppQ5OZIckIZejalZ/iSlAQt36BK//G9LHQ1gOBwzn3cHOPH3OmtG1/WwuLS8srq5m17PrG5tZ2bme3rqJEElojEY9k08eKchbSmmaa02YsKRY+pw2/fzXyGw9UKhaF93oQU1fgbsgCRrA2kpc7uINzSCFtSwEXJjj0KgDtyESgBNfezRC8XN4u2GPAPHGmJI+mqHq5r3YnIomgoSYcK9Vy7Fi7KZaaEU6H2XaiaIxJH3dpy9AQC6rcdHzKEI6M0oEgkuaFGsbq70SKhVID4ZtJgXVPzXoj8T+vlejgzE1ZGCeahmSyKEg46AhGvUCHSUo0HxiCiWTmr0B6WGKiTXvZrGnBmb15ntSLBeekULwt5cuX0z4yaB8domPkoFNURhVURTVE0CN6Rq/ozXqyXqx362MyumBNM3voD6zPH/8/mEQ=</latexit>

Area law  ensures  the 2nd Law of thermodynamics



Generalized entropy

S =
AreaH
4GN

+ Smatter
<latexit sha1_base64="CtVWvIAjR2r4mAK6Emdy4WTSfSc=">AAACG3icbVDLSgMxFM3UV62vqks3F4sgCGWmFnQjVF3YlVRqH9CWIZOmbWjmQZIRyjDf4cpPcSUoiDtx4d+YTmehrQcCh3PuIfceJ+BMKtP8NjJLyyura9n13Mbm1vZOfnevKf1QENogPvdF28GScubRhmKK03YgKHYdTlvO+Hrqtx6okMz37tUkoD0XDz02YAQrLdl5qw4XEEHUFS5c6mBsVwG6vo5AGW7s2xhOoG4ntouVoiK28wWzaCaARWKlpIBS1Oz8Z7fvk9ClniIcS9mxzED1IiwUI5zGuW4oaYDJGA9pR1MPu1T2ouS0GI600oeBL/TzFCTq70SEXSknrqMn9X4jOe9Nxf+8TqgG572IeUGoqEdmHw1CDsqHaU/QZ4ISxSeaYCKY3hXICAtMdAcyl9MtWPM3L5JmqWidFkt35ULlKu0jiw7QITpGFjpDFVRFNdRABD2iZ/SK3own48V4Nz5moxkjzeyjPzC+fgAIqZ7B</latexit>

Bekenstein 70’s    



Question

• When a black hole emits Hawking radiation, it 
loses energy, so its area becomes smaller. 

• What happens to the entropy ?



Question

• When a black hole emits Hawking radiation, it 
loses energy, so its area becomes smaller. 

• What happens to the entropy ?

Includes the entropy of quantum fields

S =
AreaH
4GN

+ Smatter =
AreaH
4GN

+ SQFT
<latexit sha1_base64="BGCMo4n+zbsauPXwJiy+eTrft9o="></latexit>

Obeys the 2nd Law     Wall 2010     

Bombelli, Koul, Lee,Sorkin 1986



Central hypothesis
These results have inspired a 



Black holes as quantum systems

• A black hole seen from the outside can be described as a 
quantum system with S degrees of freedom (qubits).  S = Area/4       
(lp =1)

• It evolves according to unitary evolution, seen from outside. 

=

Central hypothesis



…in other words

• If one includes A/4GN “mysterious” qubits, 
then the black hole can be described as an 
ordinary quantum system. 



Thermodynamics

r
tE

<latexit sha1_base64="aQzdabfMJnp8zoZJJuTmfatTg5c=">AAAB7HicbVBNS8NAEJ3Urxq/qh69LBbBU0mqoMeiCB4r2A9oQ9lsN+3SzSbsToRS+hc8CQri1T/kyX9jkuagrQ8GHu/NMDPPj6Uw6DjfVmltfWNzq7xt7+zu7R9UDo/aJko04y0WyUh3fWq4FIq3UKDk3VhzGvqSd/zJbeZ3nrg2IlKPOI25F9KREoFgFHNpcGcPKlWn5uQgq8QtSBUKNAeVr/4wYknIFTJJjem5TozejGoUTPK53U8Mjymb0BHvpVTRkBtvlt86J2epMiRBpNNSSHL198SMhsZMQz/tDCmOzbKXif95vQSDa28mVJwgV2yxKEgkwYhkj5Oh0JyhnKaEMi3SWwkbU00ZpvHYWQru8s+rpF2vuRe1+sNltXFT5FGGEziFc3DhChpwD01oAYMxPMMrvFnKerHerY9Fa8kqZo7hD6zPH93tjdg=</latexit>

Gibbons
Hawking

``cigar’’

horizon

Z = Tr[e��H ] ⇠ e�Igrav
<latexit sha1_base64="CvJeXsK4Lx8+EHoWbuiPjrF4oo4=">AAACGXicbVDJSgNBEO2JW4xb1KOXwiB4Mc6ooBch6CXeIpgFkzH0dCpJk56F7h4hDPMZnvwUT4KCePXk39hJ5uD2oODxXhVV9bxIcKVt+9PKzc0vLC7llwsrq2vrG8XNrYYKY8mwzkIRypZHFQoeYF1zLbAVSaS+J7DpjS4nfvMepeJhcKPHEbo+HQS8zxnVRuoWD2/hHG5kG/AugQPoeKgpVFMXOor7kKlX3WQg6X0KKXSLJbtsTwF/iZOREslQ6xY/Or2QxT4GmgmqVNuxI+0mVGrOBKaFTqwwomxEB9g2NKA+KjeZPpbCnlF60A+lqUDDVP0+kVBfqbHvmU6f6qH67U3E/7x2rPtnbsKDKNYYsNmifixAhzBJCXpcItNibAhlkptbgQ2ppEybLAsFk4Lz++e/pHFUdo7LR9cnpcpFlkee7JBdsk8cckoqpEpqpE4YeSBP5IW8Wo/Ws/Vmvc9ac1Y2s01+wPr4AoEqnU8=</latexit>

Tells us the answer but does not tell us what microstates we are counting 

Igrav / � 1

GN

Z
p
gR+ · · ·

<latexit sha1_base64="2ZdP7YlwALOan8orygyd/oKjw+Q="></latexit>



Evidence 



1) Entropy counting

Special black holes, in special theories (supersymmetric) can be counted precisely 
using strings/D-branes  à reproduce the Area formula.  (+ also corrections to this formula)

Strominger Vafa

using results by 

J. Polchinski

…

Sen
…     



2)  AdS/CFT…

Hot fluid made out of 
very strongly
interacting particles. Gravity, 

Strings
Black hole

Black hole in a box. 
Evolving unitarity. 



but



Hawking 1976 : 

This can’t possibly be true!



Geometry of an evaporating  black 
hole made from collapse

Partners of radiation

Singularity
radiation The radiation is entangled with 

partners of radiation. 

Since we do not measure the interior
we get a large entropy for the radiation.

A pure state seems to go 
a mixed state. 



The Hawking curve  
Compute the fine grained entropy of the radiation as it comes out of the
black hole (formed by a pure state)

Time

Entropy of 
outgoing 
radiation Hawking’s calculation

Thermodynamic entropy
of the black hole

old black hole



The Hawking curve vs. the Page curve
Compute the fine grained entropy of the radiation as it comes out of the
black hole (formed by a pure state)

Time

Entropy of 
outgoing 
radiation Hawking’s calculation

Expected from unitarity
What computation 
reproduces this ?

Thermodynamic entropy
of the black hole

old black hole



There were other apparent paradoxes 
with the black hole entropy formula. 



Full Schwarzschild solution

Figure 2: Maximally extended Schwarzschild spacetime. There are two asymptotic regions.
The blue spatial slice contains the Einstein-Rosen bridge connecting the two regions.

not in causal contact and information cannot be transmitted across the bridge. This can

easily seen from the Penrose diagram, and is consistent with the fact that entanglement

does not imply non-local signal propagation.

(a)
(b)

Figure 3: (a) Another representation of the blue spatial slice of figure 2. It contains a neck
connecting two asymptotically flat regions. (b) Here we have two distant entangled black
holes in the same space. The horizons are identified as indicated. This is not an exact
solution of the equations but an approximate solution where we can ignore the small force
between the black holes.

All of this is well known, but what may be less familiar is a third interpretation of the

eternal Schwarzschild black hole. Instead of black holes on two disconnected sheets, we

can consider two very distant black holes in the same space. If the black holes were not

entangled we would not connect them by a Einstein-Rosen bridge. But if they are somehow

created at t = 0 in the entangled state (2.1), then the bridge between them represents the

entanglement. See figure 3(b). Of course, in this case, the dynamical decoupling is not

7

ER

Eddington, Lemaitre, Einstein, 
Rosen, Finkelstein, 
Kruskal

Vacuum solution. No matter.  
Two exteriors, sharing the interior. 

Right 
exterior

Left 
exterior

singularity

Interior =
crunching
region

interior



``Bags of Gold”
Initial slice:  

Evolves to a black hole as seen from the outside
and a black hole in a closed universe. 

Can have arbitrarily large amount of entropy ``inside’’

Counterexample to the statement that 
Area entropy counts the entropy “inside”

Wheeler

The holographic principle resolves the black hole information paradox within the framework of string 
theory.[4] However, there exist classical solutions... "Wheeler's bags of gold".  …. are not yet fully 
understood.[5]

Wikipedia article:

https://en.wikipedia.org/wiki/Black_hole_information_paradox
https://en.wikipedia.org/wiki/Holographic_principle%2523cite_note-4
https://en.wikipedia.org/wiki/Holographic_principle%2523cite_note-Marolf01a-5


We will see how to resolve these 
confusions



• These confusions involve the black hole 
interior. 

• They involve computations of ``fine grained 
entropy’’, not thermodynamic entropy. 

• They confusions involve entanglement.



Back to basics



Black holes as quantum systems

• A black hole seen from the outside can be described as a 
quantum system with S degrees of freedom (qubits).  S = Area/4       
(lp =1)

• It evolves according to unitary evolution, seen from outside. 

=

Central hypothesis



It is only a statement about the black 
hole as seen from the outside !

No statement has been made about 
the inside (yet). 



Full Schwarzschild solution as a 
wormhole

Figure 2: Maximally extended Schwarzschild spacetime. There are two asymptotic regions.
The blue spatial slice contains the Einstein-Rosen bridge connecting the two regions.

not in causal contact and information cannot be transmitted across the bridge. This can

easily seen from the Penrose diagram, and is consistent with the fact that entanglement

does not imply non-local signal propagation.

(a)
(b)

Figure 3: (a) Another representation of the blue spatial slice of figure 2. It contains a neck
connecting two asymptotically flat regions. (b) Here we have two distant entangled black
holes in the same space. The horizons are identified as indicated. This is not an exact
solution of the equations but an approximate solution where we can ignore the small force
between the black holes.

All of this is well known, but what may be less familiar is a third interpretation of the

eternal Schwarzschild black hole. Instead of black holes on two disconnected sheets, we

can consider two very distant black holes in the same space. If the black holes were not

entangled we would not connect them by a Einstein-Rosen bridge. But if they are somehow

created at t = 0 in the entangled state (2.1), then the bridge between them represents the

entanglement. See figure 3(b). Of course, in this case, the dynamical decoupling is not
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ER
Right 
exterior

Left 
exterior

singularity

interior

interior



Wormholes and entangled states

Figure 2: Maximally extended Schwarzschild spacetime. There are two asymptotic regions.
The blue spatial slice contains the Einstein-Rosen bridge connecting the two regions.

not in causal contact and information cannot be transmitted across the bridge. This can

easily seen from the Penrose diagram, and is consistent with the fact that entanglement

does not imply non-local signal propagation.

(a)
(b)

Figure 3: (a) Another representation of the blue spatial slice of figure 2. It contains a neck
connecting two asymptotically flat regions. (b) Here we have two distant entangled black
holes in the same space. The horizons are identified as indicated. This is not an exact
solution of the equations but an approximate solution where we can ignore the small force
between the black holes.

All of this is well known, but what may be less familiar is a third interpretation of the

eternal Schwarzschild black hole. Instead of black holes on two disconnected sheets, we

can consider two very distant black holes in the same space. If the black holes were not

entangled we would not connect them by a Einstein-Rosen bridge. But if they are somehow

created at t = 0 in the entangled state (2.1), then the bridge between them represents the

entanglement. See figure 3(b). Of course, in this case, the dynamical decoupling is not
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Connected through the interior

Entangled

= W. Israel
J.M.
JM Suskind

|TFDi =
X

n

e��En/2|ĒniL|EniRIn a particular entangled state

ER = EPR

Full wormhole is in a pure state, 
entropy of each black hole arises from entanglement



Euclidean black hole

tE
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Hartle
Hawking

Figure 2: Maximally extended Schwarzschild spacetime. There are two asymptotic regions.
The blue spatial slice contains the Einstein-Rosen bridge connecting the two regions.

not in causal contact and information cannot be transmitted across the bridge. This can

easily seen from the Penrose diagram, and is consistent with the fact that entanglement

does not imply non-local signal propagation.

(a)
(b)

Figure 3: (a) Another representation of the blue spatial slice of figure 2. It contains a neck
connecting two asymptotically flat regions. (b) Here we have two distant entangled black
holes in the same space. The horizons are identified as indicated. This is not an exact
solution of the equations but an approximate solution where we can ignore the small force
between the black holes.

All of this is well known, but what may be less familiar is a third interpretation of the

eternal Schwarzschild black hole. Instead of black holes on two disconnected sheets, we

can consider two very distant black holes in the same space. If the black holes were not

entangled we would not connect them by a Einstein-Rosen bridge. But if they are somehow

created at t = 0 in the entangled state (2.1), then the bridge between them represents the

entanglement. See figure 3(b). Of course, in this case, the dynamical decoupling is not
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interior
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The rest of the paradoxes involve 
understanding fine grained entropy



Two notions of entropy  

• Coarse grained entropy = thermodynamic 
entropy. Obeys 2nd law. Arises from ``sloppiness”

• Fine grained entropy. Remains constant under 
unitary time evolution. (sometimes called ``entanglement’’ 
entropy)

S = �Tr[⇢ log ⇢]
<latexit sha1_base64="6Spbt+EjnFQ3h6OgFx423AnhTGE=">AAACBXicbZDLSsNAFIYnXmu8RV12M7QIgliSutCNUHTjsmJv0IQymU7aoZNMmJkIIXThyhfwHVwJCuLWh3DVt3HadKGtPwx8/OcczpzfjxmVyrYnxsrq2vrGZmHL3N7Z3du3Dg5bkicCkybmjIuOjyRhNCJNRRUjnVgQFPqMtP3RzbTefiBCUh41VBoTL0SDiAYUI6WtnlW8h1fwDDZEF7piyKHL+CAnD/assl2xZ4LL4MyhXCu5p8+TWlrvWd9un+MkJJHCDEnZdexYeRkSimJGxqabSBIjPEID0tUYoZBIL5sdMYbH2unDgAv9IgVn7u+JDIVSpqGvO0OkhnKxNjX/q3UTFVx6GY3iRJEI54uChEHF4TQR2KeCYMVSDQgLqv8K8RAJhJXOzTR1Cs7izcvQqlac80r1TsdxDXIVQBGUwAlwwAWogVtQB02AwSN4AW/g3XgyXo0P4zNvXTHmM0fgj4yvH86TmPs=</latexit>

S = max⇢̃ (�Tr[⇢̃ log ⇢̃]) , T r[A⇢̃] = Tr[A⇢]
<latexit sha1_base64="1SF2oQgVv/OguhegLba6UnhC2lE="></latexit>

Subset of observables, ``simple observables”



For the moment we will be talking about 
the entropy of the black hole as seen from 

the outside. 

This is the entropy of the quantum system 
that appeared in our “central hypothesis”



The horizon area computes 
thermodynamic entropy

How can we compute the fine grained one ?



Fine grained gravitational entropy

We need to find an extremal area. The ``smallest’’ extremal area. 

Start with a surface going around the 
horizon and shrink it as much as possible. 

We are allowed to take the surface to
the inside. 

Ryu-Takayanagi 2006
Hubeny, Rangamani, Takayanagi 2007
Engelhardt, Wall 2014  

Follows from AdS/CFT rules: 
Lewkowycz, JM , Faulkner,Dong,…

It is the fine grained entropy of the quantum system that describes the 
black hole  as seen from the outside. 

S = min

⇢
ext


Area

4l2p
+ Smatter

��

<latexit sha1_base64="kn8u6bUjIG+I/+F/djRVtVa+2iA="></latexit>

More precise:  minimal area along a spatial slice (Cauchy slice) and maximal among
all possible Cauchy slices



Examples



interior

star

Singularity

horizon

Zero area. 
Entropy = entropy of matter that makes up the star 

Extremal surface for a black hole formed from collapse



Figure 2: Maximally extended Schwarzschild spacetime. There are two asymptotic regions.
The blue spatial slice contains the Einstein-Rosen bridge connecting the two regions.

not in causal contact and information cannot be transmitted across the bridge. This can

easily seen from the Penrose diagram, and is consistent with the fact that entanglement

does not imply non-local signal propagation.

(a)
(b)

Figure 3: (a) Another representation of the blue spatial slice of figure 2. It contains a neck
connecting two asymptotically flat regions. (b) Here we have two distant entangled black
holes in the same space. The horizons are identified as indicated. This is not an exact
solution of the equations but an approximate solution where we can ignore the small force
between the black holes.

All of this is well known, but what may be less familiar is a third interpretation of the

eternal Schwarzschild black hole. Instead of black holes on two disconnected sheets, we

can consider two very distant black holes in the same space. If the black holes were not

entangled we would not connect them by a Einstein-Rosen bridge. But if they are somehow

created at t = 0 in the entangled state (2.1), then the bridge between them represents the

entanglement. See figure 3(b). Of course, in this case, the dynamical decoupling is not
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The fine grained entropy for one side of the Schwarzschild wormhole is equal 
to the Area. 

Right 
exterior

Left 
exterior

interior

interior

There are intermediate cases… 

Extremal surface for the Schwarzschild wormhole



You should be surprised by the claim 
that there is a formula for the fine 

grained entropy



Entanglement wedge

• We keep track of the region swept by the 
surface as it tries to extremize the entropy. 

• That region outside the quantum extremal 
surface is called the ``entanglement wedge’’.  

Czech, Karczmarek, Nogueira, Van Raamsdonk, 
Wall, Headrick, Hubeny, Lawrence, Rangamani



A

As we move the surface inwards,
we keep track of the entropy in the fields outside



Here the extremal surface
Is the bifurcation surface

Figure 2: Maximally extended Schwarzschild spacetime. There are two asymptotic regions.
The blue spatial slice contains the Einstein-Rosen bridge connecting the two regions.

not in causal contact and information cannot be transmitted across the bridge. This can

easily seen from the Penrose diagram, and is consistent with the fact that entanglement

does not imply non-local signal propagation.

(a)
(b)

Figure 3: (a) Another representation of the blue spatial slice of figure 2. It contains a neck
connecting two asymptotically flat regions. (b) Here we have two distant entangled black
holes in the same space. The horizons are identified as indicated. This is not an exact
solution of the equations but an approximate solution where we can ignore the small force
between the black holes.

All of this is well known, but what may be less familiar is a third interpretation of the

eternal Schwarzschild black hole. Instead of black holes on two disconnected sheets, we

can consider two very distant black holes in the same space. If the black holes were not

entangled we would not connect them by a Einstein-Rosen bridge. But if they are somehow

created at t = 0 in the entangled state (2.1), then the bridge between them represents the

entanglement. See figure 3(b). Of course, in this case, the dynamical decoupling is not
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interior

star

Entanglement wedge covers the interior. 



We saw that there was a quantum system that describes 
the black hole from the outside. 

How much of the spacetime does this quantum 
system describe ? 

- Only the  outside ? 
- A portion of the inside ? 
- Which portion ? 



We will introduce a new hypothesis



Entanglement wedge reconstruction 
hypothesis

• The quantum system describes everything 
that is included in the entanglement wedge. 

• We can recover the state of a (probe) qubit inside the 
entanglement wedge. 

• Recovery is state dependent and similar to quantum 
error correction. 

• Many consistency checks
Almheiri, Dong, Harlow, Jafferis, Lewkowycz, J.M., Suh,  Wall, Faulkner…. 



• Usual: If you do simple observations à see 
everything outside the horizon. 

• New: If you do arbitrarily complex 
observations à see everything outside the 
“minimal surface”. 



We will now argue that this removes 
some apparent paradoxes



``Bags of Gold”
Two possibilities: 
A) Bag has little entropy due to matter  (compared with the area of the black hole horizon)
B)  Bag has lots of entropy due to matter

Entanglement wedge  covers all. 
Could still be very big, but since the number of states is small,
and the map can be state dependent, this is not a problem

Minimal surface at the 
neck.   

Little matter entropy inside
Lots of matter entropy inside

The size of entanglement wedge depends on the (fine grained) entropy, not on the 
energy, of the matter inside. 

Marolf, Wall



Old evaporating black hole



Geometry of an evaporating  black 
hole made from collapse

Singularity
radiation

Entropy on the orange slice (nice slice), 
inside the black hole,  
could be much bigger than the area at t,
for a black hole that has evaporated for
a long time.  

The geometry and entropy on the orange 
slice is somewhat similar to the bag of gold. 

t



Old evaporating black hole 

Singularity

radiationt

Two implications for old black holes :
1)   Fine grained entropy is close to the old black hole entropy.
2)  The quantum system describing the black hole describes only a portion of the interior

Penington , 
Almheiri, Engelhardt, 
Marolf, Maxfield ;  
2019

There is a second extremal surface. 

The entanglement wedge 
Includes only a small part of the interior, 
just behind the horizon. 

It is crucial to include the 
quantum contribution.



Fine grained entropy of the black hole 
(of the quantum system describing the black hole )

Time

Black hole 
fine grained 
entropy

From  the trivial 
extremal surface

From new 
extremal surface

Almheiri, Engelhardt, 
Marolf, Maxfield ;  
Penington 2019



What about the entropy of the 
radiation ?



Entropy of radiation?

• The radiation appears to be in a mixed state. 
• Why? 
• Because it was entangled with the fields that 

were inside the black hole. 

• How do we know this? 
• Through the evolution of gravity. 
• We should use the gravity rules to compute the 

fine grained entropy. 



Singularity
radiation

t

Naïve entropy of the
radiation

Correct entropy of the 
radiation



New rule

S(Rad) = min


S(Rad [ Islands) +

Area(Islands)

4GN

�

<latexit sha1_base64="Hp+cdY4ms4QtRcNAQwaMXk6x3m0="></latexit>

Exact entropy
Entropy in the effective 
field theory description

Singularity

t

Island

radiation

Penington
Almheiri, Mahajan, JM, Zhao



• Is this just an ``accounting trick’’? 

• It is the accounting rule that gravity instructs 
us to use!. 

• This ``accounting rule’’ was derived before it 
was applied to this problem. 



Derivation of the gravitational fine 
grained entropy formula

It can be derived using a reasoning similar to the Gibbons Hawking 
euclidean black hole argument. 

Use a ``replica trick’’  where we introduce n copies of the system and 
continue near n =1. 

This introduces a small conical defect angle, a kind of cosmic string. 
Minimizing the action we minimize over the area. 

Zn = Tr[⇢n] �! S = (1� n@n) logZn|n=1
<latexit sha1_base64="L2Mpi+TPDVkj77DpweyjF6V9KCg="></latexit>

Lewkowycz, JM; Faulkner Lewkowycz JM; Dong, Lewkowycz.         



In the case of ``islands’’ the geometry contains wormholes connecting the n copies. 
``Replica wormholes’’. 

Two classical contributions to the gravitational path integral. 

One gives the Hawking answer and the other the Page answer.

The Page one dominates at late times.  

It is a Hawking/Page transition. 

Penington, Shenker, Stanford, Yang ;  Almheiri, Hartman, J.M., Shaghoulian, Taj,  2019



Two topologies for black holes

Hawking
Page

Euclidean time circle

sphere

Euclidean time circle

sphere

Euclidean 
Black hole

Flat space

Hawking-Page transition



Solution that gives 
Hawking’s result

Replica wormhole, giving the 
Page answer when it dominates
at late times. 

Replica wormholes: n=2



Conclusions

• We reviewed  thermodynamic black hole 
entropy 

• We described the fine grained gravitational 
entropy formula. 

• We applied it to the computation of the 
entropy of radiation. 



• A lot of what we discussed was derived by 
thinking about aspects of AdS/CFT, which itself 
was derived using string theory. 

• But you only need gravity as an effective 
theory to apply these formulas.

I am in awe of how clever gravity is !



Future

• More explicit picture for the microstates. 
• What further lessons is this teaching us about the 

interior?  The singularity ? 
• A hundred years ago a black holes were a 

mathematical curiosity and today they are an 
observational reality. 

• Hopefully, the same will happen with the aspects 
of black holes we have been discussing!

Thank you !







Longer wormhole

β/2

Lorentzian

Euclidean

ART AHi

AHf

ART < AHi < AHf

Minimal (extremal) area


